
IoT vignette 

Raspberry pi 3B+ 

We were asked what constitutes as an IOT device. In my opinion it would have to be the 

raspberry pi because it has lots of uses. It has lots of connectivity including WiFi and bluetooth. 

It opperated on any operating system and its cheap price profile means people can afford it 

from less wealthy country’s.  

The image below is of a a raspberry pi. Not all the usb ports and the DNS socket on the back. 

This means you can connect it anywhere at any time.  
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